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1 )
1 An electron has a spin quantum number +— and a magnetic quantum

2
number —1. It cannot be present in the following orbital .
(1) d-orbital (2) f-orbital
(3) p-orbital (4) s-orbital

%Eﬁﬁ?ﬁwaﬁi’wﬁw+%%mgﬁaﬁa'ﬁmm'—l
¥t ue Frefefes & ¥ fbw wo@ ¥ oofus <& & wear ?
1) dwem | () foHus

(3) p-vaE 4) s-aHEH

2  Maximum number of electrons in an orbit is given by

1) n? @) 2n

3) n22 (4 None

ol wa # oo o W e, b @ & a7
(1) n? @ 2n2

3) 2 @) g &%

40 80
3 Two elements are presented as 20A and 3 5]3 . The ratio of neutrons present

in the atoms of these elements is - _
) 1:2 @ 4:7
3) 4:9 4 8:7

a’ra?rfr@r Aeﬂt B %mﬁuﬁfﬁhmw%lwaﬁ’r%mﬂaﬁ

ﬁew&uaagﬁﬁaﬂa@:rﬁr%
m 1:2 @ 4:7
(3) 4:9 @) 8:7
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Which of the following element does not have (n—1) d1%ns? configuration ?

(1) Zn | (2) Au
(3) Cd _ (4) Hg

Po A ¥ BTY aw H R (n—1)d0ns? T ¥ ?

1) Zn 2) Au
(3) Cd (4) Hg

The decreasing order of electron affinity is :

() F>Cl>Br>1 @ C>F>Br>1
@) 1>Br>Cl>F 4 Br>Ci>F>1I
el oelEd (@gEl) @1 I gON %W ¥

() F>Cl>Br>I @ Cl>F>Br>I
G) 1>Br>C>F @ Br>Cl>F>I

The isomerism exhibited by following compounds [CO (NH3)6] [Cr (CN)S]
and [Cr (NH3) 6] [Co (CN)G] is

(1) Linkage isomerism (2) Coordination isomerism’

(3) Ionisation ison;erfém (4) Polymerisation isomerism
s A [Co(NH3)6] [Cr(CN) ] e
[ Cr(NH3) ) | [ ol CN)6] U e T o T ¥

(1) Y& AT | (2) SyEEEdSE gHEESA

| (3) B FHEEE @) TEERHTO GAIEAAT
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Which of the following is diamagnetic jon 9
1) Tt 2 v+
(3) 3t 4 cu+
Frfifer & 4 s g o o
(1 o+ 2) 3+
@) crit (4) cCu+

The correct TUPAC name of the compound K, [Zn (OH)J is :

(1) Potassium zinc hydroxide
) - Dipotassium monozine hydroxide
(3) Potassium_ zinc(IT) | tetrahydroxide

(4) Potassium tetrahydroxozincate (In)

W Ky [Zn(0H), ] = wdt mupac ™Y
(1) dfEn Rig LSRG

@) =rRfiEm AT egiamse

G) Rfmm Riwa BT TS

@) WA SrrgRe @)

Which of the following does not exhibit variable
(1) Cu 2 Ni

oxidation state 9

[ Congd..,
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The set of elements present in the second, third and first series of transition
elements respectively is :

(1) Pd, Pt Y (2) Ag Cu, Au
3) YW S (4) Mn, Tc, La

dm o @ wam qEd, dEd ok e AR ¥ saRew asi @
¥

() Pd, Pt Y | () Ag, Cu, Au

3) Y, W, Sc (4) Mn, Tc, La

Electronic configuration of Gadolinium {(Gd) is [Z=64] :
(1) [Xe]4£® 54° 657 @  [Xe]4f’ 54! 657

B3) [Xe]at? 5d° 65 @) [Xe]4f” 542 65!

P (Gd) #1 seweie Rea 31 [Z=64] ¢

(1) [xe]4f® 5d° 652 @) [Xelaf” sd' 6s®

() [Xe]ar” 5d° 65> @) [Xe]af” 542 65!

Misch metal consist (?__f. :ill'Oﬂ,. fraces of S, C etc. with 95% of :
(1) Earth metal e (2) Actinide .

(3) Lanthanide (4) Alkaline earth mefal
figt g ® We THSC % aEdNl ¥ W 95% Tl Sl ¥ o
1) ¥ g ~' () TS

() i ’ (@ i @ g
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13 . Arrange Ce3*, La’* Pm3* and Yb3* in the increasing order of their ionic
radii ; '

1) Yb* <P’ < Ce?t < La3‘_L
@ Ce* < YbO < PmPt < L3+
®) Vb3 <P < La** < ce?t
@ Pmt <La® <ot < Yb3*

Ce™, La®*, Pm™ om vo>* @t sat wedt 38 s e § araRes
i |

1) Y} < Pm < Ce¥t < L3+
()  Ce*t < YB3t < Pm3* <143t
B) YOI < Pm3t < Ladt < oo

@) Pm3 <La®t < Ce3t < v+

14 | Actimides which exhibits +7 oxidation state are -

(1) U, Np | (2) Pu, Am
() Np, Pu 4 Am, Cm
+7 SIRIGT TR 9 T ey ¥
(1) U, Np | (2) Pu, Am
(3) Np, Pu @ Am, Cm
FAG1_A ] 6 [ Contd...
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17

General oxidation state of Lanthanides is :
(1) +3 (2) +2

G o | @ +

.ﬁﬁﬂmaﬁwmaﬁw%:

(1) +3 @ +2

3 o ' @ +

The unit for specific reaction rate of second order reaction is :

(D sec! (2) mole-Iit1. sec!
(3) lit2. mole?- sec! (4) lit-mole™1-sec!
ﬁ?ﬁﬂﬁﬁﬂ%ﬂﬁm%ﬁmﬁlﬂwm%ﬁﬁmﬁ%:
(1) sec! (2) mole-lit!-sec]
(3) lit?. mole2. sec! - (4) lit-mole!.sec!

For the reaction 280, +0, (excess) — 2503, the order of reaction with
respect to O, is :
(1) zero ' - (2) one

(3) two. o (4) three

ffsRaT 250, +0, (snfyma) - 2505, ¥ fig 0, & we ¥ afufemr &

o = @ w

@) @ @ @

FA61_A | 7 ‘ ~ [Contd...



18 Rate constant for first order reaction is $.5x10"4s~!. The half life of

the reaction is :

(1) 126 x 1085 @ 130x10%s
(3) 2.00 %100 (4) 226x%x10%s-

ao i e ¥ R A Rreis w1 A 5.5x1074 57! ¥ sfufm
W odarg el | |

(1) 1.26x10%s @) 130x102s

¢y 200x1i0s (4 226 x10%g

19 Which of the following is not correct for chemisorption ?
(1) It is highly specific.
(2) Tt is usually reversible.

(3) It increases with increase in surface area.

(@) Tts enthalpy is high.

fPrfvlas & ¥ d-m TRt % g e T8 Y
1) uE o R @ El

(2) ¥® 9 SRl s ¥

() & 99T X ¥ 9 & WY w©A &

@) o ddwd g= R ¥ |

FA61_A] 8 ' [ Contd...
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The range of size of colloidal particles is :
M 10°-10%m @ 10°-10712,

3 1073-10%n @ 107210719,

BT U H R & T B

M 10%-10%n @ 107910712

3 103-10%m 4 10712_19719,,

The vapour pressure of a solution 'containin_g 0.15 mol of solute (non
volatile) and 0.85 mol of solvent is 120 mm of Hg. What is the vapour
pressure of pure solvent 9

(1) 102 mm of Hg (2) 12085 mm of Hg

(3) 1411 mm of Hg (4) 150 mm of Hg

0.15 Hie e (sramsagier) aen 0.85 Wi foremra® g ww Ryt o amer
W9 120 mm Hg ¥ 3 Poms @1 o o feem & 7

(1) 102 mm Hg 2) 120.85 mm Hg

(3) 141.1 mm Hg (4 150 mm Hg

Which of the following aqueous solution will exhibit highest boiling point
(Considering complete ionization) ?

(1) 0.01 M Na,80, 2) 0.015M glucose
(3) 0.015M urea (4)  0.01M KNO,

a{%ﬂfﬁﬁgﬁﬁ@fﬁﬂ—ﬁﬁ?ﬂﬁﬁﬁﬁﬁﬁﬁﬁma&ﬁm%({ﬁm
T Q) ? |

(1) 0.01 M NaSO, (2) 0.015M "gmrg
(3) 0.015M urea (4) 0.01 M KNO,

FA61_A1] 9 [ Contd...



23  Which of the following is not correct for ideal solutions ?

(1)  The solutions obey Raoult's law over the entire range of concentration.

(2) The enthalpy change (AH.y;) of mixing of the pure components

to form the solution is zero.
(3) The volume change (AVyy) of mixing is zero

(4) Ethanol and acetone on mixing form. an ideal solution.

ﬁﬂ%&aﬁ%ﬁ-ﬁ-%&f%ﬂﬁ%ﬁaﬁaﬁﬁ%?

(3) firsm H AGTT IRadT (AVmi_x) o g ¥

@ qaﬁhquﬁﬁfaamﬁwmfﬁmm%l

24 Which of the following term is unitless ?
(1) Mole fraction (@ Moty
(3) Molarity (4) Density
frtefes & ¥ F-w v = g (unitless) & ?
(1) . e () v
(3) T @) wTE

FAGL A | 10 [ Contd...
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25 A mixture of benzene and toluene forms -

(1) An ideg) solution (2) Non-idea solution

(3)  Suspension (4) Emulsion

%’x‘rﬁ?aﬂ‘{ﬁﬁgam&rwwm%

(D) % amy fmge @ & srEst fyma
) P |

K _ @ e

.
-

3
!
‘ 26 The AH; for CO2(g), CO(g) and H,0(g)

are -393.5, -111.31 and
" —241.8 kI mol™!
1
2
!
i

respectively. The standard enthalpy change in (kJ) for the
! reaction CO, (g)+H, (g)— CO(g}+H,0(g) is -

(1) 52471 () 4039

i 3) -2625 4) -412

i

€0, (g), cO(g) mam Hy0(g) & forw AHY w1 ik gy ~393.5, -111.31.

(g)-l—Hz (g)—-co (g)+.H20(g) ¥

M  Ac () AH
(3) AE @) PaAv
%ﬁmﬁm%ﬁrqﬁw%ﬁﬁﬂﬁaﬁmd’méma%waﬁ%
) aAG (2) AH
() AE 4 PAv
FA61_ A ]
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29

If process is spontaneous then :

() AG=0 () AG>0

B AG<0 (@) AG=AH
e wpn @O yaifa & &

1) AG=0 - 2 AG>0

® a6<0 @ AG=AH

The volume of a gas 1s.reduced to half from its original volume. The
specific heat :

(1)  Remains constant - (2) Reduces to half

3) Bé doubled . (4) Increases four times

@%mwmqﬁwwmmﬁmw%lw
fafdre wwm - -

(1) Rerx =t % (2) e & W ¥

@) T WA e | (4) WX TR o
30 Enthaipy of sublimation of a substance is equal to :

(1) Enthalpy of Fusion

(2) Enthalpy of Fusion + Enthalpy of vaporisation

(3) Enthalpy of vaporisation

(4) Twice the enthalpy of fusion

s e W e @aﬁ W ¥, Eﬂﬁr

1) dE e A

@ wwe el + A T

() T T

@) W e & A
FA61 A] 12 ‘ ~ [Contd...
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Number of i 1someric monochloroalkanes of CsHy, are -

M 6 | @ 5
7/ G 7 @ 3
CsHiy & et Arieeiiieedt & son oh -
M s @ s
3 7 | 4 8
Il 32 Wthh of the following alkyl halides will undergo SN! reaction most
1|‘ - réadily ? | _
i .
!‘ (1 (CH3),C-F @ (CH;),Cc-cl
H _
t @) (CH;),C—Br @ (CHs),C-I
: AR ¥ B Yew s ot gE A SN s .
! gt ¥ 7 -
(1) (CH;),C-F @ (CH;),c-cI
(3) (CH;),C-Br @ (CHy),C-1 |

33 The correct stability order of following is -

(1) 1-pentene > cis-2 - pentene > trans - 2 - pentene
(2) cis-2 - pentene > 1 - pentene > trans - 2 . pentene
(3) trans - 2 - pentene > cig- 2. pentene > 1 - pentene
(4) cis-2- peﬁtene > trans - 2 - pentene > 1 - pentene
Frffes &1 ol wnfer @ o &

(1) lﬁiﬁw>mzﬁaﬁq>faw 2 - =9
@ -2 > 1 -3 > Rygg - o - TN
@) Fow -2 -9 > wwmmo2 39 > 1. 1=

(4) wHE-2 -7 > fygey - 2 - =E > 1 -9
. FA6l A] 13 [ Contd...
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In the electrolysis of sodium salt of a carboxylic acid, acetate free radical

* is formed at anode. The hydrocarbon obtained in the reaction will be :
(1) methane (2) ethane
(3) ethene (4) ethyne
wmmﬁmm%%mmwﬁgﬂm
o qve T B ol § w w e A |
(1) #&w . @) =
¢ e @
35 The TUPAC name of allyl chloride is :
(15 | 1 - Chloropropene
(2) 3 - Chloro -1 - propyne
(3) 3 -Chloro - 1 - propene
(4 1 - Chloroethene
e TGS W JUPAC -THaw & ¢
(1.) 1 - TERWA
(2) 3-%- 1 - WEA
(G) 3-TA-1-T9A
@ 1 -FREE
FAS1_A | | 14 [ Contd...
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COOH

Cl—l—Br

H

(1) (R) 2-bromo - 2 - chioro ethanoic acid
2 () 2- bromo - 2 - chioro ethanoic acid
(3) (R) 1-bromo -1 - chloro ethanoic acid

4@ (S) 1-bromo - 1 - chloro ethanoic acid

aﬁﬂﬁrﬁgaa*rﬁmm(R/S)Wém:

COOH

Cl Br

M ®) 2-99-2 -5 wdimF onet
@ (S 2-F -2 - T e
(3) (R)l-aﬁtﬂ-l-afﬂﬂqﬂﬁw\am

@) (S) 1-9mi-1-wrd RO EiEcrl
FA61 A] 15

(R/S) Nomenclature of the following compound s -
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37

The correct order of increasing acid strength of the compounds :

(IiIIs
(@ CH;CO0H (b cH; - C- ¢ ~ OH
, CH; O
CH, | h)
(¢ CF,CO0H (d H -C-0
¢ 3 H3C>-c H
1 @ <@<(E=< M)
@ ®F< @ < @) <
G @ <@«< (©) < (b)
@ W@<@<p-< (©)
RHES]
o
(8 CH;COOH ® cny-c- C - OH
' CH; O
CH. O
3 I
- () CF,COOH d = ~C -
¢ 3 1{3c>c C - OH

M) @ <@ < (< @)
@ ®) <@ <@ < (@
G) @ <@ < (9 < ()
@ @ <@ <@ < (@

FA61_A | 16 | Contd...
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Benzoyl chioride is hydrogenated in presence of a catalyst__(Pd-BaSO4)_tq .
form benzaldehyde. The reaction is called :

(1) Rosenmund reduction
(2) Stephen reaction
(3) Etard reaction

(4) Gatterman - _Koch reaction

we@w@d&aso@aﬁwﬁuﬁrﬁ%‘w‘fqﬁﬁmg%m@mhwa
R LT D Y S, | |

(1) Igs e
(2) wi%w efufrm
®) Te st
() MEET — Byt s

Which of the following do not respond with Fehling's reagent ?

(1) CH,CHO | (@) CH;CH,CHO
(3) C4H,CHO @ CH;- CH~CHO
. CH3

%ﬁfﬁﬁmﬁ%maﬁwﬁﬁﬂﬁmﬁrmﬂﬁaﬁm?

(1) CH,;CHO (2) CH, CH2CH0
() C.HCHO ' @ cH,- CH~CHO
CH;
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Which of the following compound will not undergo Aldol condensatioﬁ\:‘_
(1) Ketone having o.-hydrogen

(2) Aldehyde having o -hydrogen

3) Ketone having méthyl keto group

() Aldehyde does not have o-hydrogen
Frafifed & & S WP o ga @ dm o
(D) o-TRST gam W |

(é) o -FREIST g .Qﬁ%‘a'sa

O) o B s e et

) ocfiv'lﬁ?rﬁr W dhesme

Compound which does not give haloform reaction is -

(1) CH;-COCH, @ cH, ~CH~CH,
OH
(3) CH;-CH,CHO (4) CH,CHO

ﬁ%ﬁﬁ%ﬁqﬁ'ﬁmﬁmﬁa’m%:

(1)  CH;~COCH; @) CH;~CH-CH,
|
OH

() CH;-CH,CHO (4) CH,CHO

FA61_A ] - 18 [ Contd...
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Correct name of the compound (CH3)2 CHCOOH s -

(1) Butanoic acid _ (2) Malonic acid

(3) Isobutyric acid (4) Glutaric acid

dfw (CH;), CHCOOH = wdt «m ¥

'g (3) arlsa’qukfizﬁ 30 @ @%ﬁwm
'l 43  Chlorination of toliene in the presence of sunlight takes place by :
| (1)  Electrophilic substitution (2) Free radical. substitution
(3) Nucleophilic substitution (4) Tonic mechanism

(1) seEFeE witreeTe 2) TEIYES WA
(3) = Ed wiremy @ amrﬁa;'w

44 Which of the following is not o, p directing group ?

(1) NH, (» -oH

(3) -CHO (4) -OCH,
s ¥ ¥ @t o @ p Prish g @ ¥ 2
() -NH, @ -OH

(3) —~CHO (4) -OCH,

FA61_A] i9 - - [Contd...
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47

The ratio of 7 electrons present in the rings of naphthalene and
benzene is :

1 5:3 @) 3:5
@ 1:2 @ 2:1

A Rl R e g —
Q) 5:3 - @ 3:5 |

(G) 1:2 | @) 2:1

Friedel - Craft reaction is related with :

(1) Sulphonation (2) Nitration

(3) Acylation (4) Reduction
Wi — e s daf ¥, Pt @
(1) SeerwHT @) TEdET
0 dedwm @) o

uv
@ +3Cl, WA, Ais :

(1) Cyclohexane (2) Gammexane

(3) Cyclobenzene chidride (4) Cyclohexane chloride
Uv

@ +3Cl, WA, A% :

(1) SRS (2) TR

(3) uEFEEEN FES (4) UEFeTET T

FAG6I_A] 20 . [ Contd...
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Aromatic among the following : e e,

& _
O O
. A B
(1) Both are non-aromatic - (2) Both are aromatic
(3) Both are antiaromatic (4) Only A is aromatic
Frfifem & & 404R® (Aromatic) ¥ :
I .
i +© _O
3 A B

ik

i M 3 AR ¥ @) I T
G W R ¥ @ A GO &

49  Which of the following is not true for aromatic hydrocarbons 9
¢)) | characteristic odouf
(2) immiscible with water
' (3) bum with sooty flame
(4) do not undergo electrophilic substitution reactions
Qﬂﬁ&mﬁ@ﬁﬁﬁ%ﬁqﬁﬁ%ﬁﬁ%waﬁﬂﬁ% ?
(1) ffire iy
) WA siftsdyg
() Y ot W F wwr wwy ¥
@ TR e affean T & ¥

"FA61_A ] | 21 . | Gontdix
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3¢  Vitamin that controls blood coagulation is -

(1) Vitamin E (2) Vitamin Bg
(3) Vitamin C (4) Vitamin K
e <t e & oo s @ Pt o b
(1) fefm E @ frefe B,
@) frefmc | () Trafm K

51  Which of the following is not a pyrimidine base ?

(1)  Uracil (2) Thymine
(3) Cytosine (4)  Guanine
sEfaie ¥ § e ARREE awe w2 2 i
(1) | 2) amE= - i
@) aEAdm @ T

52 Glucose on oxidation with nitric acid forms :

(1) Gluconic acid (2) Oxalic acid
(3) Saccharic acid ) Butyric acid

G, TERD o & WM e 50 W o b

(1) ~@iE anq | @) oitRkE o
@) ¥fw ova @) sfefw o

FAG)_A] 22 | [ Contd...
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What is not correct for enzymes ?
(D Enzymes are- very specific for a particular reaction.

(2) These are required only in small quantities for the progress of a
reaction.

(3) They increase the magnitude of activation energy.

(4) Almost all the enzymes are globular proteins,
ot % foa wmmowd o Y e
(1) dumm & fadw afafem & R fifie o &

@ Pl afifem & wity ¥ fig e wga B aE @ g
Bl ¥

() & afpaw st ¥ ufmmr @ 9w A ¥

(@) T g GoEH g WA 3 ¥

Insulin is an example ;)f following type of protein :
(1) Fibrous (2) Globular
(3) Chain (4) Cylindrical
T Frfefed voR & W89 @ samm t o
1) =R () T

() sEm 4) SETSI

FA61_A ] 23 ' = [ Contd...
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55 Out of the following, essential amino acid is : i
(1) Valine (2) Glutamine

(3) Cysteine | ' (4) Serine
Prerffas é“ AEEE T av ¥

1) A | 2) o
G) R&E= ‘ @ o=

56 The enolic form of acetone has -
(1) 9 o bonds, 1 x bond and 2 lone pairs
(2) 8 o bonds, 1 .n: bond and 2 lone pairs
(3) 10 ¢ bonds, 1 & bond and I lone pair

(4) 9 o bonds, 2 m bonds and 1 lone pair
THEN & Fifve w0 waar § o
(1)96W,11:Wa?r’{2@a%gm
(Z)SGW,anGﬁTZQW@q
G) 106 99 1 n F9 ok | Taa 3w

“) 00 T 2 n T A1 e gw

FAGL A | 24  [Contd...
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7 Who applied the valence bond theory to the hydrogen molecule ?
(1) Pauling (2) Heitler and London
(3) Fajan ' (4) Born and Haber

TR O W W a9 Rt Bt wgew R ?

(1) ureeT 2) T R w=
() BN . (4) I wd FEy
i
‘ 58 The electronic configuration and bond order in case of Hes ion are,
%
i respectively :
s
2 x 1\l 2 + 10
(1) (Gls) (GIS) ,1 (2) (O'ls) (GIS) s 1/2
. 2 & 0 2 * l
(3) (GIS) (0-15) ’ 0 (4) (G}s) (Gls) s 1/2

Hej T & foq soeife R ok w0 w9 w3

O (ou) (oh).1 @ (o) (i) 12
¥
) (ou) (oh) 0 @ (o) (ot 112

FAGL_A] | 25 [ Contd...
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60

The relation between Bond length, Stability and Bond order is :

1

] -
(1) Stability oc bond order

(2) Stability o« bond order
(3) Bond length o bond order
(4)  Stability oc bond length

Y WNE, Wi o w7 ®mw ¥ gy ¥
1) "

(2) Wi oc w9 ®my
() TU WEE o TY WA

The value of Hamiltonian operator is :

h 1 9y(e)
O —= v at( @ Ey |
3 B my y - V2iv
(3) 2 4) “om +

h 1 oyt
O g R O By
Snzmlp 2 y)
(3) h2 (4) -EE-V +V

FA6I_A] 26
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EAN of metal atom in Fe(CO); and Cox)(CO)g are respectively

(1) 34, 35 Q) 34 36
(3) 36, 36 | 4 36, 35
Fe(CO)s &t Coy)(CO)g & wemmoyeit a7 wysprel) T #9i%  (EAN)
L S
(1) 34, 35 @ 34 36

1, (3) 36, 36 @) 36, 35

. _
62  The geometry of [Co(CN)6] complex and hybridisation of Co in it

IS :
(1) Octahedral, d2sp3 (2) Square planer, dsp?
(3) Tetrahedral, sp3 (4)  Octahedral, sp3d2

[Co(CN)‘ST_ PN A AfE ek T Co @ Hotm &

(1)  erewhes, d2ep3 _ () T wEel, dsp?
() agwwEl, spd (4) srewaaE, spid2

63  Which ligand is expected to be bidentate ?

10 c,0% | 2) CHyC=N

FAS1_ A} ' 27 [ Contd...
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§4  The CFSE for octahedral apd tetrahedral complexes is related as

4 2
(1) A, = "'é‘At 2) A= “540

2 4
3) Ay = “‘3‘At @) A= _-EAO

65 1Ifa complex absorbs blye colour of white light, then colour of light emitted

will be :
(1) red @) green
(3) orange (1)  yellow

(1) «m @ =a

@) awd | “) B
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66 Due to lanthanide contraction :

(1)

Ionic radi increases from La to Lu
(2) Tonic radij remain constant from Ly to La
(3) Covalent ragjj increases from La to Lu

(4) Ionic radi decreases from I.a to Lu

8 TR g & o
D 1a ¥ Lu 7 smfm e wod 3
" @) Lu%Laaaaewﬁaaf%wwﬂwmﬁ%
%@ 3) La@Luamﬂmwf%wwwﬁ%
% @) LaﬁLuamewﬁlasf%mnuzah%
‘ 67 Which of the following ion s po paramagnetic 7
1 | (1) Ced+ | @ Pr3
| (G) N3+ @) Lu¥
FrefoRas & & g AT AggEHE W L ¢
(1) Ce3+ (2) pr3+
(3) Nd3*+ 4 Lw
68 Dy

108s are coloured due to -
(1) d-d transition (2) {£F transition
(3)  d-f transition

Dy** amas i & -

(1) d-d F®a ¥ e

(4) fd transition

@) ff 99U % grop
() d-f Fwmor ¥ ey @) d G F oy

FAGL_A | 29
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69 In the complex K, [ThC16] > the outer electronic configuration of‘"-\_

actinide ion g -

(1) 570 g0 7,0 (2) sl g0 750

70 In general the Molar Susceptibility values of the Actinide ions as compared
to those of Lanthanide ions are - : '

(1) Higher () Lower
(3) Equal (4) None of the above

mﬁmm%wwmmﬁmm
%sﬁqﬁfﬁgwﬁ‘sﬁ%: |

(1) S=ax | @ fremy
(B) wum @) e ¥ ¥ B oy

71 Disintegration of radioactive elements ig an example of -

(1) 1% order (2)  20d grder

()  zero order (4) 1.5 order

R wlt w2

1) v | 2 fadig aif>
G) T w 4 1.5 =R

FAG61_A ] 30 [ Contd...
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/72 The well stoppered thermos flask containing some jce cubes. is.an .
example of -

_..-":: (I) Closed system (2} Open system

; () Isolated system (4) None of the above
‘ v ¥ - |

N s< Feg 2@ ww fom

ll 3) fefe fe ) IFT ¥ 4 B T

S e

73 According to second law of thermodynamics -
(1) Total energy is conserved
(2) Heat is conserved
(3) Entropy changes
(4) None of the above
Sominl & Ul P % AR :
(D) I« o=t o wdt
(@) @ Wi wd 2
() wId wfeffa o 2
@ TR ¥ By
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74  What is not correct for the reaction 2N305 -4NO3 +0, 7 \

—d[N,05]

(1) Rate of reaction is at

(2) Rate of reaction is proportional to [N205]2.

(3) It is a first order reaction.

4 Itisa redox reaction.

GT&I%QT 2N205—)4N02+02 a; f%rl"'{iﬁﬂ Hﬁ qﬁ % ?

(1) mﬁr&mméﬂrﬂlgoi]%l

@) ofibr w1 [N,05] % wEgER e ¥

(3) usuaqﬁ&ﬁaiﬁﬁm%l
(4) % T SEw atafear ¥

75 For Arrhenius equation K = A ¢ Ea/RT which statement is false ?

(1) Unit of E, is Joule/mole.
(2) A is independent of temperature,
() E, is dependent of temperature.

(4) A is frequency factor.
HRFEE T K = A e Fa/RT & Ryw @vmar w97 o 3?7

() E, & % smre 3

@ A" w Pk W@ w3
() E, 99 W Pl w@r ¥
@) A SRt i ¥
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%%ﬁwﬁrwﬁﬁﬁr%:‘

(D

()

(1)

€)

AheTET (a) o) WA (m) ¥ wey T o

76  Efficiency of fuel cell is given by -

AG

=7 %100

AH )
AH -

= %100

AG
= x 100

AH @
AH

— x 100

G @

1

a o — @)
m

a oc m? 4)

M) &« @)
(3) ae m2 C))

FAGL A

33

AS
——x 100
AG

A—G- x 100
AS

é'-S—>< 100 |
AG

éﬁ x 100
AS

77  The relation between activity (a) and concentration (m) is : -

[ Centd...



78  Corrosion is basically a :

(D) Altereqg reaction in Presence of H,0.
2) Electrochemical Phenomency

3) Interaction,

go_ RT

79 oF K known a5 -

(1)  Gibbs €quation

TS B Ry e

(@) Gibbs Helmholt €quation

() Nernst equation

4 Vander Waals €qQuation

34

533-'-'..;1—-\--._ -
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Weak electrolyte of the following is :

(1) HClO, () HI
(3) CH;COONa o (4) H,CO,
Prafafea & @ ?ﬁfﬁl ‘a'g,ﬁ Uy %

(1) HCIO,4 ' .2y HI

(3) CH,COONa | @) H,CO,

81 Enthalpy of formation is related to the reaction :

(1) NH,NO, I—> N, + 24,0

2) 2H,+0, - 2H,0

(3)  CyH, +305 — 2C0, +2H,0

“) C2H4 +Hy; — CyHg

gvaT-wen e afwfem @ defdm ¥, @ ¥ ¢
(1) NH4NO, — N, +2H,0

(2) 2H,+0, - 2H,0

3) C,Hy4+309 —2C0,+2H,0

(4) C2H4 + Hz — CZHG

FAG1_A ] 35
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82

The standard enthalpy of formation of which of the following substanéé_
is zero ?

(1) H, gas @) HCl gas

B) H,0 gas @) CO, gas

) HC #g
(3) H,0 g @) co, #g
83 In general the entropy change of a Spontaneous process js -
(1)  Positive (2)  Negative
() Zero (4) None of the above
mﬂmamwm:w&fam%%rq@ﬁ?vﬁaﬂwm:
(1) s @  wrEm
) @ SR ¥ ¥ B s
84

Boiled egg is hard, so there s :

(1) Increase in disorder

(2) Decrease in disorder

3

) No change in disorder

) AG is negative -

Wg@&vmw&w% o Y :

M
@)
()

C)
FAGI_A |

ST godt )
HTTAT Ty 3

TN ¥ B R g )
AG FE Bar &

36
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85 Which of the following relation is correct for enthalpy 9

AG
(1 = TaS (2)  AH = AE+PAV

() AH=Cy-c, 4 AH=C,AT

ﬁw&vf@aﬁ%@ﬁ%%qﬁwﬁﬁaaﬁ% 7.
Tas . (2) AH = AE+PAV

@) AH=C,AT

“N B
86 N /CZC\CH3 has the following prefix :
(M) E @ z
() trans (4)  Anti
cl Br
M C=C ¥ Ry sww &
H” N\,
M) E @ z
() = @) &
FA61_A | |
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88

89

are
(1 2 @ 3
) 4 (4) 6
1,2@@%?@@%%%%%&&%@%
(1 2 @ 3
3 4 @ 6

At ~70°C the NMR of cyclohexane give :

(1) 1 signal (2) 2 signals

G) 3 sionals - @ 6 signals
_ g

—70°c'wﬂm%aﬁqmmém%:
(1) 1 9% @) 2 d%g
(3) 3 dq 4) 6 9%

In which of the folléwing compounds halogen atom is not attached to any
carbon atom of benzene ring

(1) 0-Chlorotoylene 2) m-MethyIchJorobenzene

(3) Benzyl chioride 4) p-Chlorotoulene

M&aﬁ%mmﬁmméﬁvw%w*m
¥ 931 gonr TE

(1) o-wRtelgdy () ARSI
@) I e @) p-wiRieTgg
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90  The IUPAC name of C=cC is -
Br” \¢

(1)  (E) 1-bromo - 2- chloro - 2 - fluoro - 1 - iodo ethene

2) (Z) i1-bromo-2.- chloro - 2 - fluoro - § - iodo ethene

(3) (E) 1-bromo -2 - fluoro - 2 - chloro - 1 - iodo ethene

i : : @) (Z) 1-bromo -2 - fluoro - 2 - chioro - 1 - iodo ethene

I\CZC/F B TUPAC 7 & :
Br/ \Cl '
(I ® I-ﬁﬂ’r-z-mﬂﬁ-z—w’r&-l-ams‘r Ty
@ (@) 190 -2 - 2 -1 - ot
G ®) 190 2 w23 -1 - o ey
@ @ 1-ﬁ-z-mﬁ-z-m-1-m Oic)

91  Which of the following wil] give Cannizzaro's reaction ?

(1) CH;-CHO (2) C¢HsCH, ~CHO
() (CHz),-C-cCHO 4} CH;-CH,-CHO
Frafefed & ¥ @ S At & 2

(1) CH;-CHO (25 CsHsCH, ~ CHO
(3 (CH3),~-C-cHO 4 cH;- cﬁz ~CHO

FAG61_A] | 39 " [Contd..
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92

93

i TN
R —C-CH,R +HCHO+RyNH — R — C- CH- CH,NR},

The reaction is known as :

(1) Wittig ' (2) Mannich

(3) Knovengel (4) Stobbe
0] : c R

I ; o ]
R —C-CH,R '+ HCHO+R,NH — R -~ C— CH- CH,NR

arfferar S Y &
(1) Tfafen ) #Atw
3) AW 4 =R

Reaction of strong alkali on furfural yield :
(1) Furfuryl alcohol

(2) Furoic acid

(3) Furfural + Furoic acid

(4) Furfuryl alcohol + Sodium furoate
TR T YR #X S ooflem ¥ W g ¥
(I) STHRT e

(2 wTH o

(3) WIERE + TUSH oA

@) WIHRE sweEw + GiRgT wRNE

FA61_A] 40
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Out of the following, which is true for chair conformation of cyclohexane 9

(1) It is the most stable conformation of cyclohexane .

('{ g (2)' Cy G, C5 and Cs Hydrogen atoms are eclipsed.
. (3) Flagpole hydrogen atoms are very close to each other.

2 (4)  There is considerable torsional strain in the molocule,
Frfefea & & St & oo voww & fg dar e & 7
(1) WEFRRT & 95 Fad ot @ weum )

@ Cz,Cg;CSBﬂTCGH@WWW%I.

G ﬁmmm%@%%m‘w&%l

@ &y 7 fEwd w0 Right (torsional strain) By )

75 AcONa(a) O\N

The above reaction is an example of :
(1) Aldol reaction (2) Crossed Aldol reaction

(3) Perkin reaction 4) Claisen reaction

AcONa(d) ~ O\/\(

Gtrﬂa%rarﬁwmm%:
() ueSw srRvRwar () e TR il
() T sifafear (@) wwga afulea
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' 'Benzéne-1, 4-diamine on vigorous oxidation with K,Cr,0; and

H»S80,4 gives:

4) =~~~ -HN—@— N=N-Nli —@—N=N-~w~. Polymer

S-1, 4-SET KaCr0; ol H,S0, & @ diw siedi
WY

FA61.A1 2 [ Contd...



¢)) Nitrosulphanilic acid
) -Nitrosyl sulphuric acid

3) .Na.Noz + Oleum

{4) Na.NO2 + HCl + sto4

ﬁwf%rﬁqa#@ﬁmaﬁm%mk@?}@wqhmm@hmﬁm

B RUC T 8

e et

(1) Only azo group

@) Azo 8roup and benzepe ring

2) Qﬁ’rweﬂtéﬁﬁvm
®) @wmmww
@ Qﬁw+wmweﬂwﬁmmm
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99 Balzschiemann reaction of benzene diazonium salt is -

(1) An SN! reaction (2) An E; reaction
(3} An E, reaction (4) An SN2 reaction
SOl STRESIET wew @ essh Affrar ¥ -

(1) wH SN! sifufipar @) @Elaﬁ%_

(3) & B, siftfpar 4) TF SN? ety

100 Nitrobenzene when reduced with Zn + NaOH gives :
(1)  Aniline (2) Hydrazobenzene
(3) Azoxybenzene (4) Nitrosobenzene

TR H Zn+ NeOH & W srwarr 3 ¢ 2 §
(1) uhes (2) wERITEISSE
(3) aTdEEN (4) -EDENEET

101 Polytetrafluro ethylene is kiown as -

(1) Nylon | (@ Perton
() Teflon @) Resol
UIAEICART SR e Wi ©

W wEr @ Wi
(3) e @ few

EA;’ISIQA] ‘ 44 .[ Contd...



102 Paracetamol is : - I L e

(1) Antipyretic -  (2) Anticancer
{(3) Antibacterial - (4) Antimalarial
yufaeme ¥ -

(1) | () Fed

3) e @) AR

103 Ciprofloxacin is :

(1) Ani T. B. drug (2) Anticancer drugl -

¢ i

(3) Antibiotic dug (4) Biotic drug

e ¥

1) AHAR =@ (2) Frad T

(3) wiostfaet == (4) a%rchtfam

FAG1A] 45 | rcomis




104 Which of the following is not correctly matched ?

(1) Neoprene - +CH, -»(13 =CH-CH,
1 - a

(2) PVC - +CH,-CH
i

Cl g

0 | o

I
(3) Nylon 6, 6 - NH'-(CH2)6—NH*C-(-CHQ ,—C-0

CHz
i
(4) PMMA - 4+ CH,—C —
| .
COOCH3 a

Rrffoa § ¥ wW wd gt T ¥ °

(1) AdE - CHZ-—(13=CH—-CH2

cl o

() v - CszclII
Cl 'y

U | > )
(3) AR 6, 6 - {NH—(CHy) ~NH-C-{-CHy), ~C-O

CHs3
(@) WomAg - CH2—(|3 —

COOCH3 1
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105 Polystyrene is an example of :

(1) Thennoplagtic polymer
(3) Fibre

RIKES R ﬁ'ﬂﬁ:‘r SEET ¥
(1)  airifes sgae

(G) m

2) Thermosetting polymer

(4) Elastomer

(2) wTfer sgew
@) IErERT

106 It is impossible to attain the lowest temperature known as zero degree

absolute. This is simple statement of -

(1) I law of thermodynamics
(2} I law of thermodynamics

(3) I law of thermodynamics

(4) None of the above

wmwﬁ%sﬁ%ﬁrmmmtaﬁ_mw'm%a

TE TF GEME HO T

(1) W&:@r%umﬁww_
@) worhE & fdw fraw @
() Twmiia & gd faw

@) s ¥ ¥ B

FA61_A ]
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107 Combination of two waves of atomic orbitals with the same sign

results in :
(1) [Interference (2) Reinforcement
(3) Repuision (4) None of the above

wﬁ%%mﬂﬁmﬁam&mﬁﬁﬁ%ﬁm%qﬁmﬁm
e # ' '

(1) R | ) w=EA
@) whwd @ w A Y A

108 Tincture of lodine is :
(1) Aqueous solution of Todine
(2) Solution of I, in aqueous KI
(3) Alcoholic solution of I, + Nal

(4) Aqueous solution of KI
AMET ®1 e ¥

ey L # Sty fem

(2) woE KI A I, @ e

@ 1L, W Iiehm Rt + Nal
@) KI % wo fems
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110

109 Which of the following polymers has phenyl groups attached to the polymer

structure ?
(1) Bunma - N (2} Natural Rubber
(3) Buna - §

@ Nylon 6, 6

Frerfec & & R sgew A sgew e P s doer & 2
M) =-N @) Wk wr
() =m-s @) T 6, 6

The drugs which are used for the treatment of stress and anxiety are
known as :

(1)  Prontosil (2) Tranquilizers

(3) Antihistamines (4) Antacids
Wﬁmaﬂrﬁm%wﬁmﬁﬁﬁﬁﬁ%mﬁﬁ;
1) W @) s

(3) vhieRfm (4)  whrare
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111 CH,=CH-CH=0 + CH, (COOC,Hy), — 259,

CH,-CH, ~-CH=0
1
CH(COOC,Hs), '

The above reaction is known as :
(1) Beckmann (2) Favorskii
(3) Michael Addition (4) Fries

CHj =CH-CH=0 + CH, (COOC,H;), —25%

CH, -CH, —-CH=0
.
CH(COOC,Hs),

sulv afwfear sel @R ¥ |
(1) <Foie Al @ | (2) ware aflear ¥
(3) WEEw druee AuEm ¥ (4) we etfkufea A

112 A, value for the compound

O
(1) 351 nom (2) 315 nm
(3) 237 nm (4) 242 nm
e } 5 fre D T A B
o _
(1) 35lnm () 315 om
(3) 237 nm _ (4) 242 nm
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4 113 Joule - Thomson coeflicient for ideg] gas is

M wr>o @ wr<o
A
(7 '

G =0 @ pyp=1

enaafﬁaa;ﬁrrqw~a‘ha=rm%:

M wyr>o0 @ pyp<o

3 uyy=o0 @) Hir=1

W YoHae (cy_cloaddition) s % way q T po LEIE

1) 1242) oiel o % o [442] WPt o 3
@) = [242] &R [a42] &I smg ¥

() 3 [242] oix a1y WS o ¥

@) [2+2] BrRrsfmemd AT ¥ o [442) gy AT Ty
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115 Which of the following is correct for a super heavy element ?
(1) Un-nil-unium, f-block element
(2) Un-nil-quadium, d-biock element
(3) Un-nil-bjum, d-block element
(4) Un-nil-ennium, f-block element
et % @ e T Ty o ¥ e wh 7
(1)  Un-nil-univm, f-id q
(2) Un-nil-quadium, d-s8i% T
(3) Un-nil-bium, d-=Ath T

(4) Un-nil-ennium, £=8(b o

116 In which of the following reactions, the enzyme diastase acts as 2 catalysf 7
(1) NH,CONH,+H,0 > 2NH;+CO;
@  CpHpOy+H0 =2 CeH1206
(3) CHsOH+Oy = CH,COOH+H;0
@ (CgHyOs), +nH20 —nCpHy0n

Wﬁammﬁwmm%mﬁm
W & 7

(1) NHzCONHz + H20 —> 2NH3 + C02
(2) CyHy011 +Hz0 — 2CeH1206
(3) C,HsOH+ 0, - CH;COOH+H,0

@) (C6H1005)n +nH,0—n C12H2201 1

FA61 A] 52 "~ [Contd...
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117 The photo-chemica] reaction

5 between H, and Bry possess the quantum
}; efficiency of aboyt -

rf (1) 1.0 x 105 () 105

L

v @) 1x105 @ 00

HzaﬂTBrz%qmeWmﬁmﬂﬁ%mﬁWWW%:

(M 10 x 10'5 2y 105

(3) 1 x 105 4) o0.01

118 The geometry of XeF, will pe -
(1) Tetrahedral (2)  Pentagonal

(3) Trigonal bipyramiday 4  Octahedral

Xy @ st ot

D Igssaay @ dvuyly
() Bl AR (4)  sEwHaHy
FA61_A ] 53
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120

The above reaction is the example of -
(M 5, 5] sigmatropic rearrangement
@ 11, 5] sigmatropic rearrangement
(3) Claisen Tearrangement

4 Cope rearrangement

é/ﬁi y

STIR ol ey S § 7
O[5 5] Ryt Rtz
@ 11, 5] Reurife frereez
G) =R frorewiye

@) @ ez

Kohlrausch's 1aw is related with :

¢)] Independent migration of bulky groups
2) Independent migration of moleculeg
3) Independent migration of jopg

@ Independent migration of atoms
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121 The process in which activities are des:gned and performed to produce

122

123

change in student behaviour is called :
(1) Instruction (2) Teaching

(3) Training | o (4)  Indoctrization

(1) oM @) e
(3) widmger 4) wfyaeT

Wh:ch factor does not match with the Thomdike's leaming theory ?

(1) Readiness (2)  Exercise
(3) Quality (4) Effect

B ¥ ¥ R e, m#mm%ﬁ?fﬁwﬁ@fﬁﬁﬁé’r% 7
M ?ﬁ'mn - @) evam

G)  ToEEm @) e

Which is not g part of "process" of computer ?
(1)  Central Processing Unit (CPU)
(2)  Arithmetic and Logical Unit (ALU)

| 3) Input

(4)  Control Unit (CU)
ﬁwwwmﬁ “m”mmaﬁ% ?
1) #=0 vhea = (cpu)

@) wHiw @@ wifey E (ALU)

() 9= (Input)

@) Frsor @6 (cu)
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124 When a teacher teaches students based on their learning needs, provig

125

solutions for the learning problems and aiso leads them towards learning
sources, then the level of teaching will be at :

(1) Memory level (2) Reflective thinking {evel.

(3) Creative level (4)  Understanding level

m#ﬁrﬁﬁvﬁﬁﬁme{mﬂmms%ﬁmﬁﬂawww
%ammﬁa&wmeﬁmwammgqer&mﬁﬁaﬁemﬁ
\‘rlm%?ﬁfﬁmwaﬂméfn:

(1) wl-wr ) Fmstt faew =y

B) . TEEE WY | @) Y Wy

Specific capabilities to do a task well are called as :
(1) Interest (2) Aptitude

(3) Attitude (4) Perception

'm-maﬁmmﬁﬁ@mmﬁ@rm%:

126

(1) oRmeRy @) oty

() sy 4) vgefe

Which theory is also known as field theory ?

(1) Gestaltism (2) Xohlar's theory

(3) Thorndike's theory (4) Skinner's theory
ﬁﬂrﬁ!@rﬁraﬁ%ﬁqfﬁ@a%ﬂm@r%ﬁww% ?

(1) TR 2) @reex B Rrar

() avREw @ R (4)1'%’3‘[??[%[":[.
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127 According to 1. K. Devis the main stages of teaching are -

128

129

(1) Planning, Organizing, Leading, Controlling

(2) Léading, Directing, Guiding, Evaluating

3) Organizing, Controlling, Guiding, Planning

4) Leading, Organizing, Directing Evaluating

T, aa.%&m%mmﬁmw#mﬁiw&'%:
(D) TFrism, wrren, s Frregspoy

@) orRm, wpkygty, Frem, ste

() =, e, fdm, Prafem

() omaR, apey e, wgie

"Trial and error” theory was propounded by :

(1)  Pavloy (2) Thorndike

(3) Skinner (4) Kohlar
“W@Eﬁ”%@ﬁ%m%:

(1) wraay . @) arierw

@) wiTY (@) @wy

What is the most important factor for mora] development of adolescents ?

(1) Give them ideal books tg read
(2) Narrate biography of idea people
() Be ideal mode for them

4 Be fiiendly with them

mw%mﬁm%mmwm%:
D omst gess g2 5y ¥

(2) enasfmﬁaa‘faﬁ?rﬁﬁ%aﬁ#aaﬁ"

(3) T omedt vgw @y

() feEg wmer oy
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131

132

Which of the following is not a constructivist view of leamning in ty
class room? .

(1) Students work in group

(2) Teachers have a dialogue with students

(3) Learning based on text books and work books

(4) Learning is interactive _ |
Prefifag & ¥ S9-w war-oy ofrm ¥ FiRES wa € ¥ 7
(1) Frendl @ % 4 &W ¥

) Taw foERi % HaE @

(¢) TATES UF R YK SHa s

(4) araipaTyet —

Which theory does nof match with theories of adolescent development ?

(1) Psycho-analytical theory (2) Sullivan's interpersonal theory
(3) Erikson's theory (4) Hall's theory

i ¥ @ @ Reem ey & R ¥ dalm 8 ¥ 2
(1) wefasdw R @) oW w eraddiEs e
3) ufeet @ R (4) ¥ = e

Which situation is most important for learning ?

(1} Classroom climate (2) - Clear educational goal
(3) Communication of teacher  (4) . Use of audio-visual aids
s % Tig el weap Refy @@ 3 2

(1) HA-HA AEIT Q) we {fw EE

C(3) SEH W OEWER @ T3 qrEll @ S
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(1)  Sublimation V) Repression

L? (3) Identification | (4)  Projection
b | S
H

o
et
—
N
%

R e T A e

134 "Mental hygiene is a science tha deals with human relationship".
jt Who said thig 9

|

(1) Fraud (2)  Skinner

(3) Crow and Crow (4) Thorndike

“Wmﬂwfﬁamwﬁm%a}ﬁsvﬁaﬁum%m%ﬂ

lws%a%m%?
(1) wms 2 wFy
Q) Haw ' @) aeRs

135 Some people adjust easily with new people becaunse they have high :
OF

‘ﬁﬂﬁm\;&ﬁ:"}fﬂﬁ\y TR LW S e, L e

Intelligence Quotient I Q) @ Academic Quotient (A. Q)

. (3) Emotional Quotient (E. Q) @ Spiritual Quotient S. Q)

v

wmwa}rﬁﬁmﬁ@m&ﬁam%mm%m:
M) 3z wka @ q) @ s w @A Q)

O e g G P .
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- 136 The propounder of 'Inductive thinking teaching model' is :

137

138

139

(1) David Ausubel (2) Hilda Taba
(3) Robert Glaser (4) Jerome Bruner
R e e % wfee ¥

() ¥ srgdw @ fewr awmn
) T wEx @ wm g

Which is not included in the sofiware technology ?

(1) Flash cards (2) - Opaque projector
(3) Posters (4) Cartoons .
Frer & & Sl g iR wte ¥ wm ad b op
(1) wiar & @) o Wewer
@) e @) WA

"An eight year old child crawl like his younger infant brother" is an
example of :

(I) Regression (2) Rationalization

(3) Repression (4) Compensation
“wmaﬁwmﬁﬁ%aﬁmgﬁaﬁ%i”%
EEUEC B |

(1) wheeE @ 3w

@) T @) =g

According to Thorndike's Law of learning which one is not included in
secondary laws ?

(1) Law of Multiple response - (2) Law of Effect

(3) Law of Mental set ' (4) “Law of Partial activity,
TS & e F P & orgar, dor Prrd F frer X @ s whef
TR ? G e

(1) wgergfwar frm 2 warg @ few

() "R Ry @ fraw (@) iy B & Prag
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(1) Facial expressions (2) Body language
(3) Code language (4 Al of the above
%ﬂ—mmﬁaﬂﬁwmﬂiaﬂ%%:

(1) 9@ F sE-we @ wrifw sy

@) widR oy | @ sofw o

Which group is related to hardware ?

(1) ALy, CPU, Monitor, Key Board

(2)  MS-Word, Key Board, ALU, CPU

3) MS-PowerPoint, ALU, Mouse, Printer _

) CPU, MS-Excel, Photoshop, MS-Word

e ¥ ¥ TE AR F weie ¥ o

I vy, W q g, Ak, Gl =)

@ T W, B, vawg, @y

3 T T e e, g o g R, ey
@ W d Y W e WA, g o8

L e L
R T L N ke E s e T e« iy P e e i i .
Rl L ".r“’:m. %y R A Fa S T - T . S &
o o : - T e S e, ot W T
Sk :

] ,I,....___.._:-.—: .

142 A Computer through which one gets the facility of e-maj] is called as -

(1) Multimedia (2) Internet
(3) Intranet 4)  Service provider
ﬁm:m%m%—ﬁwaﬂﬁﬁmmaﬁﬁ R we ¥
() iR @ w=ae
@) TR @)  wE gt
143 The best teaching aid fiom learning point of view is :
(1) That given in textbook () Available in the market
(3) Student made “x (@) Teacher made
R B e ¥ wetow o grafr 3
() gages ¥ § .- @) IR ¥ ey
(3) ww Py -' (4) semum Prifg
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144 Tn formula L=f(E¢ fo),lfL ‘stands for learhing, what do E; and
P Indlcate"f R i |
] Ermronmental factor and Parentai factor |
(2) Emotional factor _and Persona] factor _
(3) Environmental i_‘actér and Personal factor
(4) Emotional factﬁf and Parental factor
o g L=f(EgxP) A L aﬁwuﬁg&m ¥, @l By P et
ifim @ ¥ 7 |
(1) awEeEg sRE 9 RBiuiccaed m
(@) wiRle & & AREE W )
(G) TEECIY BRE ¥ ATE HRE
@) whe wRE T AfHEEE wRE

145 Self perception and people's perception develop| :

(1) Interest (2)  Intelligence
(3) Self concept : (4) Self discipline
= yadE T W % vadm wo el dd v o0
0 o L o s
| REILE

G @w@a @ = g

146 Which model is ‘helpful to students for concept construction and
reconstruction ? '

(1) Enguiry Training ‘Model (2) - Infotmation Processing Model
 {(3) * Co-operative Learning (4)  Advance Organizer Model

aﬁﬂmwmaﬁwﬁﬂhaﬂm 3 gt ¥ wews ¥ 7

(1) yeae few we @) | wwn wReEE

() wewmll sem (@) ofim wuﬁmﬁ

FA61 A | 62 [ Contd..,




147

148

149

150

a2 IS
Al T 7
35. g SELLSER

What is knowledge ?

(1) Knowledge :s the result of personal interpretation of experience
2) Knowledge is the personal experience of a person

3) Knowledge outbursts the ideas and views of a person about the world
(4) Knowledge is an experience which identifies our personality

e o w7

(1) aﬁaﬁﬂa%a&wmﬁéaﬁmuﬁmém%l

2) ﬁﬁ@ﬂﬁﬁwaﬁ%ﬁlﬁmﬁﬂﬂ@m%l

3) aﬁaﬁﬁ%ﬁﬁmﬁaq&aﬁfﬁwﬁq@?ﬁaﬂm%l
(@) W T FgH ¥ &t 59 sfra @ aien ¥

What are the classroom USes of computer 7
(1) Computer assisted instructions

(2) Calculating and analysing data

(3) Computer simulated experiment

(4) Al the above

FEgEL 6 HE-HA SwEm @ ¥ ?

(1) wEE ST SR

Q) & fygdueT T GIE

() TR R EaU LI

4) o @l

e

Propounder of concept attainment model is :

(1) Piaget (2) - Bruner

(3) Ausubel (4) John Dewey
g Saete wReEE ¥ qaa®d © -

o) fas @ TH

@) g (4) i S

‘Which factor is not considered as effective class room teaching ?
(1) Lack of technology '

2) Feedback N

(3) Teaching strategies and skills

#) Communication and principle of clarity

ﬁwwﬁwﬁtwﬁﬁaﬂmﬂﬁaﬁﬁm%?

'(1)35:11%’(&@?[ @) TN

@) fyyeror HEAR 9 2@ (4)w=3rwawmm1ft@a
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